Sr

10

1"

12

13

14

15

Questions

U e S OS2l S ) Db e e dB e ke

oA S 500k

= Chiagpad (S 100 4

o e oM e 05 D1k S sy

S GRS g lal S 55 1k S GRSl a e S et

S BS s S8 g B dD e ) 100

= UBS ol o)k

B G o o D10k ssde e

U e (S5 18 ) Dhkeslal L 8

) LS oy

PPN BN BY IN-HSSS R

ey ) ik plile ) S8 (A 5 S

e OS s 3 GS U b ki e S lasl

Aand (S Golal e e 3 100

u}ewgwwﬁ@&u&ﬂl&m& sl (S

Answers Choice

A

DomP» DUO® P UOWr DOWP UOUP UOWP DOWP U0UP U0WP 0U0Wr U0WP U0Wr U0Wr U0WE 00w

S5 S e

Sy Sl

A (e (580 e
JRETIG

10
1"
12
13

sl il Sy Cuf
2 N e a pada
S SlaS

o Jali s

e Jil8

Gde (e
Cixe Jysha
alad Vb s i

S o5 (5 S
oSl

S oSS a8 J
oS L YU a2

K Jamas
S s S A
A
(NP H

s
HBFC
RRRIGEH

Sy Slad
L

=8 S

= A8 S5 e
Usisd sl
G s d5ase Shas

Cafa
SIS e
S SlaS
ool

ELTEESY
g ISl S
= Gs J\l\_iel 22l )
LSSy

S S o5t e us ) Sl
EPYPNAIN Cu) s

sloal S g st (obow
alad Yl aie

51‘;’93;};;4

=S o
= S e
o (S ol Yl na st

uﬂh‘;

s

Uiz @ sl Al
Pt






